FLATD! Dsi_end EFW‘%N’VE: Jul 2&0 Supersedes: Apr. 2020
s
. . " . . " GENERAL NOTES: - . . -
Recess barrier to permit 2l Recess barrier to permit 2 € 3/4"0 » Expancion evice shal | be fobrisoted in one section, < Recess barrier to permit .
fres movement of plate i free movement of plate Conorete vent £ 1716"0 countersuns ox0ept for S1age aonstruction and when the 1angth 16 R i free movement of plate T
! Holes @ bt ‘VHG‘E TSN S over 50 feet: A complete joint peneiration groove weld | s wota stus Jo I
¢ 3 Welded Shear COF‘”EC*OF € 3 Welded Shear Connetor 12" cts-(Typ.) ——; %Tat head stove bolt splice shall be required. Welds shall be ground flush W eeRTieD < | © 3 Welded Shear Connector
| Studs (3/4"@ x 6" Loy N Studs (3/4"@ x 6" Long) with 1727 % 1% s otted to provide a smooth surface. The expansion device DOCUMENT. * # 1/16"@ Hol + K Studs (3/4"@ x 8" Long)
- -\’r{qwEofdtig!/ep(\wﬁrweg\sg:ied - 12" Borrior Plate 15 hola 1hiangie shal | be fabricated and installed to the crown and [ IS mﬂdwgy%?gig RS F i 172" Bont
771670 Hole countersunk ( Ue/)»wz Barrier Plate o1 e PA9Ter Sha et ( Mﬁ T . 43 grade of fhe roadway. i hole 1727,x 17 in angle: ( 2 ) Barrier Plate
y Plgtes Bar 1 174" x 3/8” x 2" H Bar 1/8” x @ 3 flon di based tol lotion ot 60°F. . ar “x 378" x 2" T -
Hole 1727 517 5 angles . ’ i B . A ~ n » an dimensions are based on installation o P 4 ~ N L
LA Fhaonelet 3 3/4” Plate with twa 13/16" x 1,172 fopped for 37810 fiat fI 3/4% Plate with two 13/168% x 1 1/2" - The expansion gap and o mensions shal | be o fappeg, for Sé?r”qi‘%r. Sy 3/4” Plate with two 13/16" x 1 1/2"
fopped for 3/87® flat < vertical slofted holes for 3/4"® fead,stove bolt of obt. = = Jertical Slotted holes for 3/4°@ 7 vl increased or décreased _each 10° fall or rise 8 99d,510ve bolt ot ot = Vertical slotted holes for 3/4"@
head stove bolt at abt L p—a / machine bolts and nuts after conerete hoe set, —— 2/ L] machine bolts and nuts. Bar 1 174" J‘i’ N | Foogeey e=z=2 in temperoture ot installatio aﬂ;f;;ﬁ;zﬂ;) g after concrete has sot. 2 S machine bolts and nuts
4" . Remove bol T AN 2
after concrete has set. / 1/2" Beveled Stiffener Plate ] 172" Beveled Stiffener Plate x 3/8" x 2 B TYPICAL Naterigl for the expansion device snall be éigrs«nggg T e T 172" Beveled Stiffener Plate
B “x ( —— T Backgougs = ” @/
Bar 7/8" x @ 3/4”@,361/4”3%”? plate with Bar 187 x " 3/4" x 2 1/4" yige Plgte witn 1 BEVELED PLATE device shall be in accordance with Sec 1037 ms-rx;mr u Bor 1787 x 173 7 3/4" x 2 1/4” Wide Plate with
{5 nojes (Placed along center | ine End of S| H = two 13/16" x 3" sl 5/8" Angle . Siructural steel or fhe expansion device ond borrier BR 2 End of Slab—f two 13/16” x 3" slotte
End of Slab — _ oF ot dor oarall o9 te T oadway ) 3 . —] holes (Placed a\ong cemer\ ine 5/8" Plate plate shall be coated with a minimum of two coats of  |———m L 3” . ,..I holes (Placed along center|ine
[ of P Y @ x 8" Long Welded e g of girder parallel to roodway) ihorganic zinc primer to provide a fotal dry P . 3@ x 8” Long Welded of girder parallel to roadwayl
3/4"® x 8” Long Welded I ¢ cirder Shear Connector Studs == - U SECTION THRU DEVICE thickness of 4 mils minimme 6 mils maximum: or < Shear Connecfor Studs R A
Shear Connector Studs Ispaced al ternately at | 4 @ Girder (GRADE LESS THAN 3%) galvani 2ad in accordance with ASTM A123. Anthors need 705 W0 = (Spaced alfernately ot | L € Girder
(spaced awsrnme\y at / B B Y about 8" cts.)(Typ. not be protected from overspray. * - about 97 cts. 1 (Typ. Rk " " "
about 97 cts.)(T: [ 3 1*1/4 fx 2 : 4 1/5 S\ZHE)G Well (Cast 4 H € 1.1/4" x 2" x 4 1/2" Slotted Well| (Cast TRTRACT T0- n =1 ' . 174" x 2" x 4 1/2" Slotted WSH (ms+
in fop of prestressed girder) and in top of the prestressed girder) and Payment for furnishing. coating or galvanizing and - i - . in top of the prestressed girde
, “Esls<—= 3/4"@ x 7" anchor balt with nut and wash 3 3/4"d x 7" Anchor 8ol § with muf and Bar 7/8" x @ ayrent ing the nishing: codting or aglv e;p;mg‘m —Ig 5 Fi h I PN A A L
T (See Std. Specs. for grout for the anchor bol ts) washer. See Std- Specs for grout Roadway device will be considered completely covered by fl FROJECT NO 5 34" washer. See 5td. Specs. for grout
128 / o7 Th anchor boI e Piate Roadway  confract unit price for Expansion Device (Flaf P\are) 2 . / v for the anchor bolts.
Plate 12" x 7/8" Plate 12" x 7/8" - Beveled Plate Boveled Plate Plate per linear foot. BRIGGE 10+ = Plate 12" x 7/8 -
Angle 8 x 6 x 5/8 blate 67 x 5/8" / b lote 67 x 5/8" FLATO1 - / blote 6 x /8"
ate 6" x " Concrote snal | be forced undsr and dround f1gt plate. afte 6" x
PART PLAN Angle 8 x & x 5/8 Bar 7/8” x @ anchors and angles. Proper consol idation shal ° Angle B x & x 5/8
Note: Concrets vent noles mot shown for clarity. AN 5/8” Angle 5/8" Plate P Sna ceRerats ' SR011728 bentaved by nate Fin}s ‘”%ig‘"g o Ié PART PLAN
X . ate  within one foot of fthe expansion device. The vertical H R s
Note: Concrefe vent holes not shown for clarity. 5/8" Angle O One foot Of e Sxpansion device. Theyers o Note: Concrete vent holes not shown for clarity.
from each offier. Do not alfernate holes at the 12” = L,
LA TYPE D BARRIER : : :
& =
Longitudinal reinforcing steel shall be placed so that |z n
Plate 12" x 7/8" 4 ends shall not be more Than *1” from vertical plate & |~
2/4" Plate with two 13/16” x 1 172" and the vertical leg of the angle af the expansion 2| <
; Vertical slotted holes for 3/4" SECTIONS THRU DEVICE aevice. -
+ machine bolts and nuts. (GRADE 3% OF MORE Complete joint penetration welds utilized in the
Y 1/2” Beveled Stiffener Plate fabrication of the expansion device shall b
Bar 7/8" x nondestructively tested by an approved method. Bevel barrier
. . " i Iate on
Recess barrier to permit _2 Angle 8 x 6 x 5/8 3A7 5,2 VL Mide Plate with Poctway face -
free movement of plate holes (placed o\ong cem+er\ ine i ¢ c
3 <
§ 3 Welded Shear Connector End of Siap of girder parallel to readwoy) ° Bevel
Studs (3/4”0 x 6” Long) 3/4"@ x 8" Long Welded .
. . Shear Connector Studs S~ D3 (Min . 3 383
7/16"@ Hole countersunk 1/2" Bent Barrier Flate (spaced ol terngtely of i . Bevel barrier = c38 SECTION C-C
in roadway plgtes Slofted 87 cts.)(Typ.) > R otees face 5 = go PART ELEVATION
Hole 1/2” x 1" in angles N " " " ,, = T cge
Boro1 1747 387 -07%% 3747 Plate with two 13/167 x 1172 Plate 6" x 5/8" yiin o ., » g ;?7 AT END OF BENT
tapped for 3/8”@ flat vertical sioffed holes for two 13/16" x 1 172" ©1.1/4” x 2" x 4 1/2" Slotted Wel| (Cast Roadway 1 e R BARRIER PLATE @ A
head stove bolt ot abt. machine bolts ond nuts hor i zontal in 0p of the prestresssed girder) and Plate — Bovel ] it
470" ots. Remove bolt B holes o 37470 x 17 onghor polf with nut ang H g7
affer concrefe has set. 1/2" Beveled Stiffener Plate machine bolts wsner. - See St. Specs. for grout [ 2zc 3) at 60°F
or the anchor bolts. 8 2=
gor /8%« (1) 374”2 e yide prore wim . SECTION C-C o2 i @]
;S?eﬁ(é?méfmin‘g Centorine SECTIDN AT END BENT Fate PART ELEVATION hEI3, @
End of Siab D S T T ST o oy * Dimension along & Girder AT END OF £3 %3 ot 807f 121
3/4"@ x 8" Long Welded \_¢ Girder BARRIER PLATE 38 O & T
Shear Connector Studs N 5/8" Angle 3 D 2 Bevel free end T
{Spuged_alfernately of - " H - i
about 97 cts- o ©11/4” x 2" x 4 1/2" Slotted Well (Cost 7/8" Roadway Plate PART PLAN SHOWING ROADWAY SECTION B-B : of bent parrier I
7 17,199 0F prostressed girder) ond _ . - € 3 Welded_Shear
e 34" anchor boit with nut and washer 3/4” Plate PLATE AND VERTICAL PLATE z Focauay oce Comnegror s Tuds
{4a5%%d! Specs. for grou+ for the anchor bolts) No weld required [ 2 gem 172 ot . . /4" x 6" Long)
on vertical leg || I 1/2" Beveled Stiffener Plate 2 arrier Plate 13/4"0 x 6" Long Welded I
Plate 12" x 7/8" of angl @ Shear Connector Stud
ale Vi 2 |
Angle 8 x 6 x 5/8 " M Nl X 2 1/4” Wide Plate B A H Shop or Typ. )
Plate 6 x 5/8 [ T 2-Layers I
; Field Weld < yer
AN =y 1727 O eeoF 30% (Min. ) e Bent Borrier
. . Roadway Plgte ROOFing Felt ? Pla
Note: Concrete vent holes not shown for clarity. I| ¢ Gira @ @ (12" % 7/8") Degwssr\ plate 3 i 1/ te 157
: irder @ 60°F [ Y and recess (Form FTash wi
s hop or 3470 x 6" Long cHINE - ‘ ‘ T ; borrier ]
|l | ——18" cop in vertical plate . Comnector Stud  Bevel free end Jertiool 7p™ Censt. Joint % i
(No weld) Rogguay Flgte Plate
| f4 Bar angle ¢ 2 (Typ.) of barrier |
Do not weld o angle—] (127°x77/87) Al T B
! P tace ’-——g 3 Welded Sheor 3/4”@ Concrete Vent J <J
End of Slab—=| Y . B N onngctor studs 0
|I I s/6” vertical piate 3" Vertical Plate I-const. Joint (37472 x 6" Long) Holes af abt. 127 cts. | s A
2-Layers d 3/4"2 x 8" Long Welded Shear Connector
PART PLAN OF 3/4"® Concrete Vent IS o = J ELEVATION OF BARRIER
ANGLE AND BAR 374 @ Conerete Vent | 00fing fe . Studs (Spaced alfernately at abt. 9” cts.)
Holes af abt. 12" ots. befveen piafe |13 rier Prate
172" x 14" —
\[}f 3/4”® x 8" Long Welded Shear Connector ' . . <| (Form FTUsh SECTION A-A
1 Studs (Spaced alternately at abt. 9" cts.) d > | with barrier)
60°
SECTION A-A pd TYPE B BARRIER (SBC)CALL)
PERMISSIBLE FIELD SPLICE AT END BENT B-A
ELEVATION OF BARRIER
— FLAT PLATE EXPANSION DEVICE AT END BENT NO.
etai le
necked Note: This drawing is not o scale. Follow dimensions. Sheet No.  of
— — (AN L T y T Ve i1
2
-
‘ 2"
" f : R
End of Slap 5/8" Angle Recess borrier fopermit ( k—)—& 3 e ig5g,Snear Connector
° L Studs (37472 x 8" Lox Recess barrier fo permit I §,2, e 954 Snear comecror

Studs (3/4” @ x f \
12 gant STANDARD DRAWING GUIDANCE (do not show on plans):
e n e 118 1L (D Bar heignt.
machine balts and nuts

" i # + of plat
7/8" Roadway Plate 7/16"@ Hole countersunk (\u_ *ﬁ”z Barrier Plate ree movement of plate
in roodwgy pigtei Slofted
odwe e

3/4" Plate Hole 112X 1540 angled 3/4” Plate with two 13/16" x 1 1/2”
x 2 vertical siotted noles for 3/4"
machine bolts and nuts

No weld required
on vertical leg
of angle

tapped for 3/8”® flat

5/8" Vertical Plate [9ad,sTove bolt af abt.
cfs. Remove bolt

cf+er concrete hos set

e \ T e s stistoner eie (@Plate length = 12”/coslskew) [12” for 0° skew]

34" x 2 1/4” Wide Plote after concrete has set

Bar 7/8" x @
\Q Girder End of Siap

Beveled Stiffener Plate

3/4” x 2 1/4” Wide Plate with
two 13/16" x 3" slotted

hol (Placed al ter | 1/8" Gap in vertical plate 3/4” x 2 1/4" Wide Plate with

Do not weld o angle 3/4°@ x 8" Long Welded LA s Bor (No weld) End of Stab e 318 g 1oetted B i = 31"/ (sk ) [3457 F 0° K

" i Shear Connector Studs - holes (Placed along center |ine arrier gap 7 cos(skew 2 or SKew
sar 1/2” Beveled Stiffener Plate Shear Connector S159sy ¢ Girder 3/4"0 x 8” Long Welded of girder parallel to roadway)
" Gap in vertical plate about 37 cts.)(Typ.) 1737 x 27 x 3 172" Siotreg well (cast Do not weld to angle @ Girder Shear Conmeotor Studs € Girder 3
x 2" x orted We as (spaced alternately at i _ i ”
e §1, 1000 X 20 x 412 SIotes )/ (spazeg.alterntely 1 e 41 Storteg it st (4)Barrier recess gap = 2 3/8"/cos(skew) [23” for
Satnors 'saa Sh3T E‘p’éls.wigr”éﬁoﬂf in fop of, the presiressed girder 0° skew]. Assume recess ends at front
for the anchor bolts End of Slab 3/4"@ x 17 Anchcr Bolt with nut cmd
5/8" Vertical Plate Plate 12" x 7/8" wosher.  See Std. gpecs. for grout edge of bar.
3/4” x 2 1/4" Wide Plate or fhe anchor bo

Angle 8 x 6 x 5/8 Plate 8" x 5/8"

" N Plate 12" 7/8"
° No weld required ;;;21 5?”?‘“ Stiffener Plote Ahg\ieﬂ x ei 5/8 Plate 6" x 5/8" . .
f T PART PLAN : 8 Verdicetice ate Instal lation gap adjustment for temperature:
. ; Note: Concrete vent noles not shown for clarity. of angle . PART PLAN |t 1,
60 60 /8" Roodwoy Plate Note: Concrete vent holes not shown for clarity. norma © join
PERMISSIBLE FIELD SPLICE AT END BENT
5/8" Angle @ Check and revise locations of slotted wells to

RA TYPE D BARR I ER PERMISSIBLE FIELD SPLICE AT END BENT RA TYPE B BARR I ER ( SBC ) clear girder end section reinforcement.

@De\efe panel for CIP slab.




